Autumn 1 - Year 3/4 Homework

Complete the pages set by your teacher in the GPS hook. The content will be taught on Monday. We will mark the

GPS:

homework i
v class. Year3 TN ANSWERS
Week Topic Page(s) Topic Page(s) 3 4
These are the pag each week: 1 Capital 38-39 Capital 36-37 105 105
Q&fOT Letters- and, Letters and
= Full Stops Full Stops.
. 2 Nouns. 4 Nouns. 4 101 101
KS2English 3 Adjectives 5 Adjectives 5 101 101
Grammar, Punctuation - -
& spelling 4 Articles 6-7 Articles and. | 12-13 101 101/102
5 Determiners.
5 Verhs 8-9 Verhs 6 101 101
cGP 6 Adverhs. 10 Adverhs 7 101 101
MATHS:

Complete the pages set by your teacher in the CGP Maths hook. We will mark the homework in class on each Monday.

Year 3 Year 4 | ANSWERS
Week Topic Page(s) Topic Page(s) 3 4
1 Place value 6 Place value and 8 12 83
2 Partitioning 12-13 1000 maore or less. 9 12 83
3 10 or 100 Q Dr‘dzl‘ing and. 10-11 72 83
numbers.
4 Order 10-1 Rcrundjng 12-13 12 83-84
numhers.
5 Mental 22 Roman numerals. 15 73 84
addition
6 Written 24 Written addition. 22-23 T4 85

Log on to TTRS and practise the times tahles that you find
tricky.




Knowledge Organiser: Skeleton, muscles and nutrition 4%

What does the human skeleton look like?

What is the function of the human skele-

How do bones and muscles work togeth-

Key vocabulary The human skeleton is a structure
* bone of bones. It supports the body.
- corfilage
: m'?; An adult skeleton is made up of
Namees
; 206 separate bones.
= skeletan

_‘r::nn? ) Hinge joint:
Key vocobulary
i wand.socket ?nyau ::_anrjﬂmfe
Jgint in one direction
= hinge joint and back again.
- Jm
= movernent
= protection
= support Ball-and-
) : socket joint:
3 functions of the human
skeleton: This gives
the most
1. Provides support to
the rest of the body movement
' of all the
2. Protects your organs. joints.
3. Allows you to move.

ers Key vocab
e PG E TR A
There are - —shoidermuscies | |+ ligoment
around 350 ,;:leicm * muscle
s « fendon
different Bl
muscles in g —
- ol musches
Ihe hurman

Tendons attach muscles to
bones, they help the bones to
mave at joints.

tendon
bends mnlrmu
triceps reloxas

Ligaments are strong bits of tissue fhu’r
hold 2 bones together.

Key vocabulary
= endoskeleton
= exockelaton
= invertebrate
= verlebrate

A crab is an invertebrate, it does not
have a back bone. It has an exo-
skeleton, o hard covering on the
outside of the body.

An elephant is o vertebrate, it hos a
bock bone. It hos an endoskeleton
which is a structure of bones on the
inside of the body.

What is nutrition and where does it come

How do different animals get the nutrition

from?2 K

==
MNutrition is the process of giving : ggg;ﬁfg ;2;
your body what it needs to grow | - fafs

and stay healthy. e

Why does your body need this? | Which loods provide this?

Eating a balanced diet will keep :
you healthy. Different food groups | =
give you what you need.

they need? Animals get nutrition from eating
r - plants and other animals. This is

Keyvocabulary | .04 ¢ food ehain.
= camivore
» food chain
= herbivare
- putrtion
* Omnivore — %_,—-'%
' o — }f
Omnivore:
Herbivaore:
An animal Carnivore:
: An anirmal that eats An animal that
that only eats
| by both plants only eats other
plants. and ather

animals.
anirmals.




Knowledge Organiser: The Romans |

Who were the Romans and why did Julius

Caesar want to invade Britain?
Julius Caesar led the =

The Romars come

: =t .
Roman army. He want-  "optome e | Vot wmro
-8 ¥, col Eusope. Aica
edtoinvade Brifainbe- | ', R T
rPE, ‘
cause: :

1. It would make him

more powerful
and famous.
2. They thought it
would be easy. Xey vocabulary | Julius fried
3. Theybelieved it o S to invade
had precious ma- | * expond Britain twice
terias. G but failed
. vinc <
4. It would stop sup- . s:none both times.
port for rebeliions.

Who were the Britons and why did Claudius

Why was the Roman army so successful in

invade Britain in 43CE?2 Claudius was the

= 4th emperor and
Howll Key vocabulory | z

== o : invaded Briton to
== .‘.‘;. « barbaric prove himself, in
= TR |l T 43CE he sent
i, Sp O i

ol ® | - invasion 40,000 soldiers to
= .?.3 * roundhases | jnvade was suc-
BT N cessful.

Britons lived in

Britons were skilled at metal
work, grew crops and lived in
Roundhouses and traded with
people in Europe.

3

g8
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o Q
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Key vocabulary

© army
+ audiory
« centution
« cantury
« cilzen

« general
. n

« legonory

' The Roman ar-

/ my was large

' and very organ-
ised and strict.

' They could earn
a good wage.
Loyal and
brave soldiers
could be pro-
moted.

|WOoIen tunic~"

Who was Boudicca and how did she chal-

How did the Romans try to defend the land

What caused the decline of Roman Britain

Romans gave
jobs to local lead-
ers and let them
keep their land if
they were loyal to
the Romans.

Boudicca was gueen of a community and
raised an army to fight the Romans as they
tried to take her land and attacked her peo-
ple. Her rebellion ook place across the coun-
fry.

: : —_—
they took while taking more? Key vocabulory
« bomacks
The forts helped defend the land . Caledonia
Roman's had already invaded. . ::W
[Jockiout tower s | boouss | | * Hodrian's Woll
[ospra —{ bomacks (
commandng
hm@:’m_r officre's honne
- T e
Hadrian's Wall was a large wall S
built by the Romans. I fook é i
years fo build. Some parts of the pa
wall are sfill visible today. B
The wall protected the Romans R
from attacks and was a symbol of o [OR—
power.
L

and the end of Roman rule?

Yeor Whot happened?

Key vocabulary
+ Angles
« decline
» Honorius
+ provinces
« Saxons

- The empire was start-
o ing to weaken and

# | their lands were be-
ing invaded by
groups like the Angles
and Saxons in 300CE.




